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Wik B 249 5% 160
— ik 160
Hids T2 10
HIRFY 60
Ty 60
IReR A S 24 30
ekt 20
LFEAane 20
2 967,505 446 967,951 446




GK) 9. WHEHE
(TA) 1. VHFH#E (HA47 - TM)
wOE #E o MR AN R i
H WIERT OFE| M E i T E B it B B
A AR N
1 997,001 160 997,161 160| 2 gap) 000 kB 160
3B TY 80 ekt 70
£ — R 70
4 3Lt 10 mkE % 80
— ik 80
Hds 24 10
HIRFY 30
Ty 30
IReR A 24 10
ekt 10
B R iR 10
2 1,047,873 160 1,048,033 160

_45_




() 10. HE#E

_46_

(T8) 1. HEREE (AT - )
wOE #E o MR AN R i
A WIERT OFE| M E i T E B it B B
A AR N
2wt 458,148 12,842 470,990 12,842[ 1 6,512|0 HEE® 100
2 ekt 4,013 B F24L% 90
3B FY 2,017 TR BIE 90
£ HIRF Y 90
4 Jbyg g 300( dLysie 10
LFHE A 10
O FHREBE 1, 880
R 1,063
DEMEEEAE 1,063
ek 743
DEMEEEARE 743
T 5 24 5% 74
DEMEEEARE 74
Hs T2 74
O INFERA NE S 493
ek 449
DEMEEEARE 449
T 5 24 5% 44
DEMEEEARE 44
Hs T2 44
O ShEREfRES 396
R 396
DEMEEEAE 396
O HEWHRE (EBR) 792
fatt 720
DEHEEEHRE 720
k5 24 % 72




() 10. HE#E

(TH) 1. #HBERBEE (EA7 : FH)
wOE #E o MR AN R i
A WIERT OFE| M E 53 E i) bz Gl B
A AR N
SDEHEEEARE 72
Hs T2 72
O HEXEEL ¥ —FEH 510
ek 464
DEMEEEARE 464
T 5 24 5% 46
DEMEEEARE 46
Hs T2 46
O RREAERIx R 788
ek 717
DEMEEEARE 717
T 5 24 5% 71
DEMEEEARE 71
Hs T2 71
O FFHIXBRAEMLY A — N 5,053
R 5, 053
DEMEEEARE 5,053
O WEHKGEE 2, 830
ek 920
— Tk 920
B F 4% 1,620
— Tk 1, 620
I F Y 90
HIRF Y 680
HihFY 770
IRF IS B0 T2 80
ek 2 290
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_48_
(%) 10. HEE
(H) 1. BERGE

CHAE - )
W E & o M B N &R s
A WEMOHE| W F 5 % & M K i
—wwmE| X S | & &
ERLHE] 5 k|2 o m| T
HFMAE AL 290
460,660 12,842 473,502 12,842




() 10. HE#E

() 2. /INERE (B = T-1)
W E ®m o M | AN &R i
H fIERT O FE| #H 1E %A it Ky E %) b B ]
A AR N
1 2l gn g 356,160 5,015 361,175 5,015( 1 1,294(0  peep s (E5) 5,015
2 fekt 3,369 1,294
3B FY 352 SEHMEEMHBE 1,294
£ ekt 3, 369
SFHEET A 3, 369
T 5 24 5% 352
DEMEEEARE 352
Hs T2 336
IReR A 24 16
2 466,756 5,015 471,771 5,015

_49_




() 10. HE#E

_50_

(TH) 3. FFERE (EA7 : FH)
W E ®m o M | AN &R i
H fIERT O FE| #H 1E %A at Ky E ) 15 B |
A AR N
1 22 g 185,837 1,909 187,746 1,909 2 gkt 1,728|0  ditpiSsngy () 1,909
3B TY 181 fakt 1,728
% SEHMEEMHBE 1,728
Wik B 249 5% 181
DEMEEEARE 181
Hds 24 173
REFI S 8 24 8
2 HHIRHE 95,390 24 95,414 24 1 2HO HEWRIE (PTHREER) 24
R 24
SEHEETHRE 24
2 284,346 1,933 286,279 1,933




() 10. HE#E

() 4. th2HEE (Wi TP
wOE #E o MR AN R i
A WIERT OFE| M E 2t 53 E i) bz Gl B
A AR N
1 42 HEe 172,317 2,279 174,596 2,279 2 gopt 1,086(0 LM it 155
B 3IETY 1,023)  fkt 134
a8 DEMEEEAE 134
4Lk 1701 W T4 % 21
DEMEEEARE 21
Hds 24 13
IRE[EI A 855 T2 2 8
O MRt =S EL 464
et 422
DEHEEEHRE 422
= F 4 % 42
KEHFETARE 42
T 42
O WEHKGEE 1, 660
et 530
— T 530
= F 4 % 960
— Tk 960
T 50
HIRF Y 430
HihFY 410
IRF IS B0 T 2 70
ek 2 170
LFHE A 170
8 AL IR 18,555 14 18,569 14 2 &kt 1210 st{b&EfhiEghg s 14
3IETFY 2l Hkk 12
a8 DEMEEEAE 12

_51_




_52_
(#) 10. HE#E
(IH) 4. H=#HE

(A - )
W OE ® o M W N R i
A WEMOME| W E E 2 B oE M R ; 0
I
g )
AT AE )
o5 24 2

1,237,124 2,293 1,239,417

2,293




() 10. HE#E

(1) 5. fRfEKEE (BUL - TFD)
wOE #E o MR AN R i
A WIERT OFE| M E g 53 E i) bz Gl B
A AR N
1R F RS 68,205 768 68,973 768( 2 gkt 36110 thakBEREFER 178
B 3B TY 3471 ekt 161
a8 DEMEEEAE 161
4 St 60| kB F Y% 17
DEMEEEARE 17
Hds 24 16
IRE[EI A 855 T2 2 1
O WEHKGEE 590
ek 200
— Tk 200
B F 4% 330
— Tk 330
I F Y 20
HIRF Y 130
HihFY 120
RS 55 24 60
Ei X ¢ 60
LFHE A 60
4R R 607,860 732 608,592 732 1 i 6910 IFRIEREHE (FHR) 481
2 fekt 600! 69
3B FY 63 DEMEEEARE 69
% FeBk 372
DEMEEEAE 372
T 5 24 5% 40
DEMEEEARE 40
Hds 24 37
IRE[EI A 85 T2 2 3
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_54_
(%) 10. HEE
() 5. RREEHE

(BN FH)
W IE #E o W | A R i
H fIERT O FE| #H 1E %A 7 Ky E ) 15 B ]
A AR N

O H¥EHaaEHE (FER) 251
ek 228
DEMEEEAE 228
Wik B 249 5% 23
DEMEEEARE 23

Hds 24 23

2 1,178,341 1,500 1,179,841 1,500




() 14. TE%E
(I7) 1. Tt

CHAE - )
W E & o M B N &R s
A WEMOHE| W F 5 % & M . i
—gmE| X | & &
ERLHE] 5 k|2 o m| *

1%1}%% 45,131 ATL 45,057 ATL 28%{%% A?4O %{ﬁﬁ% A74
Tt AT4
T AT4

g 45,131 YANAA 45,057 ANAA
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